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International Relations, 1919—c.1989
Answer three questions.

1 (a) Describe three aims of Woodrow Wilson at Versailles.

(b) Explain two reasons why the Germans objected to the disarmament terms in the Treaty
of Versalilles.
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(c) ‘Germany’s loss of land in the Treaty of Versailles was fair.’
How far do you agree with this statement? Explain your answer.

[Total: 20 Marks]
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2 (a) Describe three functions of the Council in the League of Nations.

(b) Explain two reasons why the structure of the League of Nations was often blamed for its
failure.
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(c) ‘The League of Nations was successful in the 1920s.’
How far do you agree with this statement? Explain your answer.

.......................................................................................................................... [10]
[Total: 20 Marks]
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3 (a) Describe three ways in which Hitler rearmed Germany between 1933 and 1936.
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(c) ‘The remilitarisation of the Rhineland was the main cause of the outbreak of the war in 1939.’
How far do you agree with this statement? Explain your answer.

[Total: 20 Marks]
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4 (a) Describe three aspects of the Bay of Pigs incident.
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(c) ‘The main reason the USSR became involved in the Cuban Missile Crisis was to defend
Cuba’
How far do you agree with this statement? Explain your answer.

[Total: 20 Marks]
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